. Misconceptions A .
1) Five faces of a fair die are painted black, and one face is painted white.
    The die is rolled six times. 
    Which of the following results is more likely?
a)  Black side up on five of the rolls; white side up on the other roll

b)  Black side up on all six rolls

c)  a and b are equally likely

2) When two dice are simultaneously thrown it is possible that one of the following

two results occurs: 
       Result 1: a 5 and a 6 are obtained in any order. 
       Result 2: a 5 is obtained twice. 
Select the response that you agree with the most.

a)  The probability of obtaining each of these results is equal.

b)  There is a higher probability of obtaining result 1.

c)  There is a higher probability of obtaining result 2.

d)  It is impossible to give an answer.

. Misconceptions B .
3) When three fair dice are simultaneously thrown, 
     which of the following results is MOST LIKELY to be obtained?
a)  Result 1:  Two 5's and a 3

b)  Result 2:  A 5, a 3 and a 6 in any order

c)  Result 3:  Three 5's 
d)  All three results are equally likely.
4) When three dice are simultaneously thrown, 
    which of these three results is LEAST LIKELY to be obtained?
a)  Result 1:  Two 5's and a 3

b)  Result 2:  A 5, a 3 and a 6 in any order

c)  Result 3:  Three 5's 

d)  All three results are equally unlikely.
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